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The figures in the margin indicate' full marks
: for the questions

AfSCTT 29 (@) S (b) FZAt (c) F (d)-3 Teq IR ¢
Answer (a) and (b) or (c) and (d) of each question :
1. (@) 961 S o9" WeE A @ARermE S
41 | 5

Mention the characteristics of a good
measure of dispersion.

(b) =T fra wRER At [oem e = 9

Calculate standard deviation - for the b
following data :

T ]S 25 35 45 55 65
Mid value
lararaort iG] S RN O DA O NE0 SRTERE 1 O
Frequency
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(2)

(c) @51 S ZPIE 17 ST HCEALA] 1 |

Discuss the importance of a good
measure of dispersion.

(d) A TR O FRART CRES AT AR o1
SRR SCEGAT 1 | 9

Discuss the advantages and
disadvantages of sample survey of
collecting data.

2. (@) =TT A2EE PR 5
Write the properties of coefficient of
correlation.

(b) EE ©AE CFl X-9 8UFS Y- R SH
foyefm =4 - 9
From the following data fit a regression
line of Y on X :

52 63 45 36 72 65 47 25
62 53 51 25 79 43 60 33

<X

(c) = 4 @ Pl ACEawE APTEEm =5 W=
eIl I AP AR e SN Al 5
Prove that Karl Pearson’s coefficient of
correlation is independent of change of
origin and change of scale.
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[ | (3)

(d) o=o T SR o[ T PeEes =
B3 el = 9

Calculate Karl Pearson’s coefficient of
i correlation from the data given below :

75 S OO o R 1) I o SR - R 5 B ¢
Yo DS R S 7 ST o R 7 S o, R D B )

3. (a) =PI b7 Sl oI QT = 2 5

Why is Fisher’s Index Number called
{4 Ideal Index?

(b) o PIRE WIF AR TS GG AL
A o1 S PRI (Ao P! AT FARES!
1 TeEd 4 4+5=9
Distinguish between Price and Quantity

Index Numbers. Also mention five
" limitations of Index Number.

(c) SRS == Ve [ aEeE oo PR
2T SeEd 41 | 5

Mention ‘the different uses of Index

Number in the study of Economics and
Commerce.
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(d) oo frar oURFEE 2[4 1993 B FRC
(i) SAGCAR AR S (i) Remre = Sjaq A
1) SR foiefH B 9

Calculate price indices for the year 1993
from the following using (i) Laspeyre’s
method and (ii) Fisher’s method :

Tl 1990 1993
Commodity | eI AR i “Afa1
- Price Quantity Price Quantity

A 6 50 10 56
B 20 100 2 120
& 4 60 6 60
D

10 30 Sl 24

4. (@) FEEAT SHEES SocEBeR [RE@ SueEna
' 47 | : 5

Discuss the utility of the study of time
SEeries.

(b) FEew 5 ANAE o A SR TN
aerel e 4 L)

Using the least square principle, find the
trend values from the following data :

bef : 1990 1991 1992 1993 1994 1995 1996
Year

T A7 88 60 54 21 22 13 23
Production

12P—4000/266 ( Continued )



(S)

(c) WY GBIl fersi 2Y5x2=5

Write short notes on :

() Fmed <o

Least square method

(i) I TS e
Simple average method

(d) =FESN T5f AU AN I OAPTYRT Tl e
241 W% 2007 19 [eqt Fefq <3 9
Calculate trend using least square

method and estimate the value of scales
for the year 2007 from the following

data :
BT : 2001 2002 2003 2004 2005
Year '
T 00 120 140 160 180
Sales
5. (a) T FHTOPE SrwmePTR U1 4 | 5
Explain the objectives of business
forecasting.
(b) RS AMCFPYRT I HCADT S | 9

Discuss the steps of forecasting.
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(6 )

() mmﬂﬁ%fiﬁmmﬁﬁﬁmﬂﬁﬁm
JefT 4T | 5

Explain the time series analysis as a tool
of forecasting.

(@) “FoPm R e BRG Aaee Rucy e

4 | " 3x3=g
Explain any three methods of
forecasting.

* K K
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